
 Aptitude Test Important Questions and Answers  

          (For all types of competitive exams)   

 

 

Q.1. A man swims 12 km downstream and 10 km upstream. If he takes 2 

hours each time, what is the speed of the stream? 

 

(A) 1 km/hr 

 

(B) 0.5 km/hr 

 

(C) 1.5 km/hr 

 

(D) 0.7 km/hr 

Ans .   B 

Q.2. In how many years the simple interest on Rs. 6000 at 10% rate of 
interest S.I will become Rs. 2000? 

 

(A) 3 months 

 

(B) 3.5 months 

 

(C) 4 months 

 

(D) 4.5 months 
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(A) 6000 

 

(B) 7000 

 

(C) 8000 

 

(D) 9000 

Ans .   C 

Q.26. Which of the following years is not a leap year? 

 

(A) 800 

 

(B) 700 

 

(C) 1600 

 

(D) 2000 

Ans .   B 

Q.27. It was Saturday on January 1, 2005. Find the day of the week on 

January 1, 2010. 

 

(A) Tuesday 

 

(B) Friday 

 

(C) Wednesday 
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Q.39. Which one of the following is not a prime number? 

 

(A) 31 

 

(B) 61 

 

(C) 71 

 

(D) 91 

Ans .   D 

Q.40. 1397 x 1397 = ? 

 

(A) 1951609 

 

(B) 1981709 

 

(C) 18362619 

 

(D) 2031719 

 

(E) None of these 

Ans .   A 
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